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Please print out this form (two-sided, if you can) and write your answers legibly in the spaces provided. If you can’t write legibly, type.
Write out the complete unabbreviated IPv6 addresses that correspond to 6721:0:4a::ce1:0 and ff0e:37bd::2:c9:ce1:7a.  Is either of these a multicast address? If so, which one?
 





How does the hop limit in IPv6 differ from the TTL in IPv4? How significant is this difference, in practice? 
 





3. Identify two distinct mechanisms through which an IPv6 host would be able to automatically acquire an IP address when booting up, and provide at least one distinct advantage that each mechanism would have over the other.
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